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Answer the Questions from any one Option,

OPTION - A ,
( Programming in Java) . :
Paper : CSC-RE-6016 / TCA-RE-6016 / TIT-RE-6016
OPTION-B C
- ( Computer’ Networks ) A
Paper : CSC-RE-6026 / TCA-RE-6026 / TIT-RE-6026
' : ’ - OPTION-C .
(Mobile Applications )
Paper : CSC-RE-6036
( Software Engineering )
Paper : TCA-RE-6036 / TIT-RE-6036
OPTION-D -
( E-Commerce Technologies ) R
Paper : CSC-RE-6046 / TCA-RE-6046 .
( Operating Systems)
Paper : TIT-RE-~6046
 Pull Marks : 60
Time : Three hours

The figures in the margin indicate
- full marks for the questions.

Answer either in English or in Assamese,
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OPTION - A
. ( Programming in Java)

Paper : CSC-RE-6016 / TCA-RE-6016 / TIT-RE-6016

1. Answer the following questions as directed :
' 1x7=7
woTe Al eRAIEE FOIREIT! Ted fordl ¢

‘(@) Full form of JDK is

JDK T 754 7] - [
(3=T] 312 999 771)

(b) All classes in Java are inherited from

object class. (State true or false)

Java I 7SI class object class 3 a0
.inherit T | (9% (7 q@5 [e3)

[c} .. The data type is used to store only
two possib'k; values : true or false.

(Fill in the blank)
7 YT A IR datatype
A2 ) 2 | (31T 212 779 7) -
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(Fill in the blank)

§

2. Define the following terms :

(d) The new keyword is used to create an
object. (State true or false)

94 object (9N 440 new keyword
R T (3% (o 9% [&730))

(e) is a special method that is used
to initialize objects.  (Fill in the blank)

@61 @ method TG object I
'WW%&@‘WW@\
(3157} 912 9179 1)

(f) String objects cannot be changed once
created. . (State true or false)

String object @Tﬁf_ﬂﬁ@lﬁﬁfﬂﬁﬁﬁﬁﬁ
@RI | (8% (7 S9% T%RN)

(g) The finally block always executes.
(State true or false)

Finally block M@ execute ¥ |

(&% (o S [E730)
2x4=8

e ferall 8

(a) Poljzmorphism

(b) Type casting

(c) = Abstract class

(d) Interface
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3. Answer any three of the following qﬁestions :
: 5x3=15

ficeIzaT foft e Te i ¢
(a) Write any five features of Java.
Java 3 Rl 2lioo! [RESE o |

(b) Write in brief about class, object,
abstraction, encapsulatlon and
inheritance.

Class, object, abstraction, encapsulation
9% inheritance I 53 ¢fet firzit |

(c) What is constructor ? Write any three
X rules defined for constructor. - 2+3=5

Constructor &? Constructor 3 R
i) fJas |

(d) Write in brief about the access modifiers
- — public, private, protected and default.

- Public, private, protected i< default
access modifier I RI 53t 7211 |

(e) Write a program to print sum and

products of an integer.

<51 OIS TR digit QI (15T I el
fers f=taT B! g fora |
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4.

Answer any three of the following questions :

(@)

~(b)

(d).

(e)

10><3 30

Write a brief descriptio'n of basic
datatypes used in Java.

Java S IARE (4 eief data type R
5 390 |

Differentiate  between method
overloading and method overriding. Give

-example.

Method overloadmg ¥ method
overrldlngﬁ'?ﬁwml"@ﬁmﬁﬁmi

Write a brief description of any five string
class methods. -

~ String class< e «ipor method-< 53

el et 1

Write a Java program to find transpose
of a given matrix.

tﬂfT matrix-9 transpose SRR Java e
frai |-

What are different types of exceptions ?
Give a brief description of keywords used
to handle exception.
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ffSn 2/ied exception @F fF? Exception | A ~ OPTION-B

ENGRIEIRE G RSISEARNEAR]] keyword C?ﬁ@ ' ( Computer Networks )
o3 et iz | ' _ : .| . Paper : CSC-RE-6026 / TCA-RE-6026 / TIT-RE—6026
() Write a Java program to display a . - 1. Answer the following questions’:' 1x7=7

ire ' let
rectangle andigRcincleiinyan appie (a) Give port number of POP and SMTP.

a. IS . f

(d) What is bit rate ?

(e) Define TCP.

(f) Define énd—to—end encryption.
(g) Define gateway.

2. Answer the following questions: 2x4=8
(@) What is frame ? What is receiver ?
(b) Define computer networks.
(c) What is bandwidth ? What is latency ?
(d) Why are protocols needed ?
3. Answer the following questions: (any three)
5x3=15

(a) Describe packet switching. lee
example.

(b) Differentiate between virtual circuit
network and circuit switching network.
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(c) Differentiate between full- duplex and
half duplex

(d) Explain HDLC protocol.
(e) Write the advantages and disadvantages
of bus topology.

4. Answer .the following questions: (any three)
10x3=30

(a) Explain in detail about TCP/IP protocol
~ suite with neat diagram.

(b) Explain in detail about periodic analog
and digital signals.

{e), Write a note on quadrature amplitude
modulation. Describe the quality of

" service.

(d) Explein in detail about different phases
- of virtual circuit network.

(e) Describe MAC. Draw the diagram.
() Explain UDP. How does UDP work ?
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- OPTION-C

( Mobile Applications)
Paper : CSC-RE-6036

1. Answer the following questions as directed :

1x7=7
T fial IR AR B forei ¢

(a) Which of the followmg is not an activity
lifecycle callback method ?

weTe AR (@06! activity lifecycle call
back method 9 23 ?
(i) onClick () method
(i) onCreate () method
(iij) onStart () method
{iv) onBackPressed () method
(Choose the.correct option)

(w7 REsies! AR Cen)

() We cannot modlfy the VI from a
background thread.
(State true or false)

Background thread ¥ W VI FeH F91
R (T (TG [eR0)
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(c) In delegation event model, an event is
an that describes a state change
in source.

" Delegation event model © event 2% <5l
¥ source ¥ state changes Fefal

fal 3 (T 12 779 )
" (d) All layout classes are subclasses of

android.view.View Group.
(State true or false)

SCAICAId layout  class 2’5 |

android.view.View Group-9 subclass |
| (o7 @ o155 F74))

(e) - is the primary programming

language for 10S. (Fill in the blank)
10S-3 I3 (NS Ol 2= I
- | (4171 21% %79 7=1)

(f) Default value of the orientation attribute
in linear layout is '

Linear layout © orientation attribute-3
TR T 25T
(i) horizontal
(i) vertical
(Choose the correct option)

(&% fF5s7c5) Az Glesd)
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(Fill in the blank)

(g) JSON stands for .(Fill in the blank)

JSON 3 7l Tl 25 |
( (T 912 27 T

Define the following terms : - 2x4=8"
@ &7l ¢

(a) Thread

(b) GPS

(c) VI

(d) SQLite

Answer any three questions : 5x3=15

frza fofab! e Tes faa s
(d) Explain MVC.
MVC 31251 351 |

(b) Explain different types of sensors
supported by Android.

Android ¢ FWeq T4l sensor @ 391 A= |

(c) Prepare a list of any five keywords of
objective-C. _
Objéctive—C © A R #i55 keyword-3
Slferel 2o 54 |
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(d) What are the lifecycle methods of
Android act1v1ty 2

Android activity= life cycle method ¥

e
() When do we need RESTful
- programming ?

RESTful programming (oA ST 24 2

4. Answer any three of the following questions :
: 10x3= 3()

wﬁmwﬁmmﬁﬁm%@m

(a) What is HTTP ? Explain' the functions of
different methods used in HTTP.

HTTP &2 HTTP © g4 (24 f3feq method
@SS <t ozt | '

(b) Explain any two VI components used in
- mobile applications.

" Mobile application © IR R RTHIA) 75!
VI component—ﬁ ﬁ‘ﬁT |

(c) What are the advantages of using SQthe
in mobile applications ?

Mobile application © SQLite 92« IS
FRdicarE 5 e
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(d) Differentiate between :

(e)

sirefay forall 8
() Android and iOS

(ii) Core gréphics and Core animation

Differentiate between :

ofiefey ol e -

(i) Cocoa and Cocoa Touch
(ii) Core data and SQLite

(f) Write short notes on : (any two)
() Keychain
(i) JSON
(i) Xcode IDE
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OPTION-C ,
( Software Engineering )
- Paper : TCA-RE-6036 / TIT-RE-6036

‘1. Answer the followi'ng Questions as directed:
1x7=7

weTe fral ePcaiea o eid] Ted ferslt ¢

(a) In software ‘engineering, engineering
principles are applied to design a
software. (State true or false)

Software engineering 9 engineering
TiferT e $R software AR = |
(&% (7 595 [o73)])

(b)) Which of the following document

- contains user system requirements ?
©eTs fdl ST (FIFCG] OS IR
system requirement (IS CF?

) SRD
(i) DDD
(ii) SDD
(iv)] SRS
(Choose the correct option)

(3% Reaeo! Az Gleredn)
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1

(@)

(e)
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The full form of SDLC is ;
(Fill in the blank)

SDLC ¥ #j¢ff 2e1 Sl
(1T 912 959 F91)

The full form of SPMP is
: (Fill in the blank)

SPMP 3 j¢fiot 2 |
(71 412 739 7)

Frequent changes in requirements may

be a reason for technical risk. : ,
(State true or false)

W@EWW technical risk
23 2= | (w7 (7 ST o)

By whom is unit testing done >
(B unit testing FCE?
(i) | Customer
(ii) Developer
(i) None
(Choose the correct option)

(@7 R0l Iz Clersd)
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(g9 COCOMO is a cost estlmatlon model.
(State true or false)

COCOMO & 35 S 41 St |
(&% @ a7 [o73)

2. Define the following terms : - 2x4=8"
wgea forall ¢
(a) Prototyping model s i

(b) Function point : [
(c) Software risk |
(d) DFD

3. Answer any three questions : 5x3=15 ' l

frize fofablq &ed (&l 8

(a) Briefly expiain waterfall model.
Waterfall model I Bilﬂ‘f?ﬁ o |

(b) Wha_t are the components of SRS ?
SRS 7 GAMAGERA 2 |

(c) What are the goals of software pi’oject
management ?

Software project IREIAIE &5 {5 ¢
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; Rzl fBfm e e Bt 3

(@)

(e)

Wnte a brief descrlptlon of Delphi cost

estimation. _
Delphi cost estimation § EEL?I‘f?H forant |
Define cohesion and coupling.

Cohesion i< coupling I igea &1l |

Answer any three questions : 10x3=30

(@)

(b)

©

‘Explain software development life cycle

model.

Software dévelopment life cycie model
G F€ :

Explam different ways of requirement

. gathering process.

Requirement 7{\31“92 safes e ﬁ‘ﬂ‘ﬁﬁ@ﬁﬁ

-

Describe the organization of SPMP

document.

SPMP 2 {7 SiEo <541 |
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(d) What are different kinds of risks in OPTION-D
software development ? Explain. (E Commerce. Technologies)

|
l
|
|
Software development ®© Rfeq edied risk \ paper : CSC-RE-6046 | TCA-RE-6046
x

A T 2 = <4 | :
'. : : 1. Answer the following questions : 1x7=7
_(e) Differentiate between : 5%x2=10 | A @—agf;n
. _ : wos fral eepTRd ved Ml 8

Sl il 8 & ‘; e -

: ‘ : : | (@) Write the full form of http.

(i) Synchronous and asynchronous | http ¥ mcfm IGRILEE

DFD : ‘

A (b) What is G2B°?
(i) - Black box testing and White box . |

testing o G2B &2
e, (c) What does ‘mil’ signify ?
() Describe various attributes of software il G B
Software @osia [feq @R B [ R
oA e il
(e)  What 1anguage is used to create
~webpage ?- '

() Mention any one type of .electronic
payment system. : '
il b1 Tyt ARCA SiTeq N O
4l | '
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(g9 Mention one popularly used web
browser. '

«Bl T web Browser_fﬁ_ s B 49 |

Answer the following questions : 2x4=8
(a) What do you mean by www ?

www Jfeicet 5 e e
(b) What is threat in E-commerce ?

- E-commerce © threat &7
(c) What is electronic fund transfer?
(d) What is DES?
DES f&?

Write short notes on the following : (any
three) - " 5x3=15

wore fral TR GOl ol 8 (ﬁmarf—ﬁﬁ‘ﬁ)

{a) Scope of E-commerce

Tl 9 offE
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(b)) Domain name

R G
(c) Secret key cryptography
e & R
(d) EDI model
. EDIwR )
(e) Digital signature
fofercat s
Answer the following questlons (any three) -
10x3=30
were Tl W T & (Retcan Fofet)

(a) Briefly discuss the technical components
of E-commerce.

SN ISR TRIPTIR G A F
(b) Briefly discuss the C2B, B2B and B2C
models of E-commerce. .
359 C2B, B2B W% B2C wﬁvr:gssgas
SIGIIESI

() What is privacy on internet ? Briefly
discuss about computer crime.
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(d)

1e)

TORCA0I (SNoTITs! 2 T80T wsiaiy
TS BACT SO S

Briefly discuss the advantages of online
shopping ? Discuss the E-cycle of
internet marketing.

SR B FRAPRR S AT 1
ZDRED TF0E E-cycle STED 541 |

Discuss about the planning of E-
commerce. What are the strategies for

~ development of E-commerce websites ?

TGS ARTHA A=ATF DA 41 | 305
= |
Briefly discuss different types of

electronic payment system. Mention the
role of paperless bill. |

Rifow wem e AR ~mfooms save
SIICEAIBA 9 | CoAARTeTE (e it Srara =1 |
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OPTION-D

( Operating Systems )
Paper : TIT-RE-6046

Answer the following questions as directed :

(@)

1x7=7

is the system call to create

a new process in POSIX.
: ' (Fill in the blank)

WWWW system call
et | (41T 12 %39 F)

(b) © Each process has its own address space.

(State true or false)

IR [AC) Bk [ R S@i address space AU |

(% (& o ET=0)

(c) All the threads in a process share a

common address space.
(State true or false)

51 275 A thread @ TG address
space IJIE T (&% (7 T E30)

(d) First Come First Serve scheduling is

3 (Sem-6/CBCS) CSC/TCA/TT RE/2/3/4j6 23

primarily used for interactive systems.
(State true or. false)
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(e)

(g)

Interactive system @'mafw@ First Come
First Serve scheduling %7® 77 |

(8% (o7 7 fo74y)

- Sometimes segmentation and paging are
combined to provide a two-dimensional
virtual memory. . (State true or Jalse)
SUICHIG segmentation % paging @@?ﬁa
SIS two-dimensional virtua] memory W
T = (%% @ wog fae)
Degree of multi-programming is less in
fixed partitioning system.

(State true or Jfalse)

Fixed partioning system @ multi-

programming ¥ I} % 33 |

(% 7 e foya))
command is used to change the

access*pemlissiohs and the special mode
flags of file. (Fill in the blank)

L —

permissions ¥ the special mode flag

[ 71 S AR (1T} 312 sp 3)
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1 = 5 @‘W accessr

Define the following terms :

2x4=8

R o e

(@)
(b)
()
(d)-

Mulﬁprégramming
Thread
System call

Pagin;:;

Answer any. three of the following
questions :

9%x3=15

Rt R o et B ¢

(@)

(b)

(c)

(d)
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What are different types of dpEratirig \
system ? Give brief introduction of each. |

fRifSn e wsticaiB: o & & 2 oo
oy R _
What are the basic functions of an
operating system ?

FAE0: Prv TR (e s & &2

Give brief description of any two system
calls.

RicPIz 75 system call T 53 el fmn |

What is virtual memory ? What are the
advantages of virtual memory ?

Virtual memory & 2 399 ?jﬁ&ntzﬁz{ TR
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(e)

Write a shell script to display the
multiplication table of any number.

Ripican AR sfRerelferel el FRACE agw
shell script &l

Answer any three of the following questions

10x3=30"

ﬁzﬂm‘fcﬁ?fm%‘?%ﬁns

(@) Define process and thread What is the

(b)

(

advantage of implementing threads in
user space ? What is the disadvantage ?

Process 9% thread 3 7ig@! &7 | User space
© thread AERAT S FRH1 & 2 oPgf<a 72

Briefly explain any two non-preemptive
scheduling algorithm. '

fRizelc 75 non-preemptive scheduling
algorithm-3 53 I 41

Write a shell script to accept a login
name. If not a valid login name display

message—Invalid login name’.

Login name 224 < 96] shell script

ferat | login name @4 Tarel ‘Invalid login

name’ 38} el 4 |

(d)

(e)

Write a shell script to merge the contents
of three files, sort the contents and then

display them page by page.
CICHEREGSACRINAIET f94ce1 ol shell
script Tl S =91 791 el 1 |

Briefly explain memory allocation
strategies. : ;
Memory allocation TS T |
Explain the difference between internal
fragmentation and external

fragmentation. Which one ‘occurs in
paging systems ?

Internal fragmentation W% external '
fragmentation-< ﬂ@@ﬁﬁ”@@ ] Pagmg
system © o) 2 2 o

1500
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